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In this photo, line tis a transversal of lines aand b, and 1 and .« are comresponding angles. Since
lines a and b are parallel, there is a special relationship between the comresponding angle pairs.

Corresponding Angle Postulate:
If two parallel lines are cut by a transversal, then each pair of corresponding

angles is congruent.
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In the figure, m<5=72. Findthe measure of each angle. Tell which postulate(s) or theorem(s) you
used.

a 4 =12
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O.hglﬂs ?og-t_

(B= )
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Corresponding /\
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In the above figure, suppose that m-8 = 105. wwaAa&a, Findthe measure of each angle Tell which
postulate(s) or theorem(s) you used.

c 21 =109 d 22 =78 e 23 =105
Correspondy Corresponding Correspemnd.
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Alternate Interior Angles Thm:

if two parallel lines are cut
by a transversal, then each
pair of alternate interior
angles are congruent.

LIV 2L
and.
2= 44

Same-Side (or Consecutive)
Interior Angles Theorem:

if two parallel lines are cut
by a transversal, then each
pair of same-side (or
consecutive) interior
angles are supplementary.

Ml +mi2=(80

and,
ML34miY=IR0

" i!_
There is
pflso o,
" & 130“‘2'8#*
\ v (Consecutive
\ 2 @exterior
\ 7\ angles thm,

" works Hhe
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Alternate Exterior Angles Thm:

if two parallel lines are cut
by a transversal, then each
pair of alternate exterior
angles are congruent.

LSE LT
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Postulates are accepted without proof. This means that we will always assume that the information
given in a postulate is TRUE without question. Theorems, on the other hand, should be proven true
before using them. We can use the Corresponding Angles Postulate to prove each of the above
theorems. The following is an example of a proof of the Alternate Interior Angles Theorem. (Please
note that there are more than one way to prove a theorem in most cases))

Proof Alternate Interior Angles Theorem l

Given: 4 || 4 gasa}me ‘vve

£is a transversal of  and 4.

Prove: /4= /5 /3= /6

Paragraph Proof: We are given that 4 || 4 with a transversal £
By the Corresponding Angles Postulate, corresponding angles
are congruent. So, £2 = Z4 and 26 = Z8. Also, £5 = /2 and
Z8 = /3 because vertical angles are congruent. Therefore,

£5 = /4 and £3 = /6 since congruence of angles is transitive. = 4y 0w S -} \wve P(OP_

/ \
LSEmLLk—*z_s /4

(VQ\‘*I}Q) wf:m&ma) (+ro;\‘}é4pife3
LG22 and LDXLD S )~

(Corras \bo“&ij (vertical) (Fransitive prop.)
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Redding Lane and Creek Road are parallel streets that intersect Park Road along the west side of
Wendell Park. If ms1 =118, find m.2.

we Kknow: 41 =42 b%

au" in-t'. L %m' qu\:}\»n Creek Road
™ML\ =W L‘l \%0 Wendell Park
(18 =me2) \\0_*

Refer to the above diagram to find each angle measure. Tell which postulate(s) or theorem(s) you

used.
a  If ms1=100, find mz4. b If ms3 =70, find mz4.
ML2+m2 Y =180 L3 = ¢4 — bythe
Lirvar pour thm o4 €x.
: L
L\ 22— ok int -
L Hamn ML= et
MmLl=ml2. QO‘MLLD
100 =M L2
(0Q0+MmLH =18D
100 |-100 |

=30
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E — — c—
B cobtuse « ag l|co cu:tbs EF.
S = acvte £ If two angles are both BIG (B), they are CONGRUENT.
B S If two angles are both SMALL (S), they are CONGRUENT.
A ; S "B B If you have one BIG and one SMALL together (B+S), they are SUPFLEMEMTARY.
Identify the following types of angles as CONGRUENT or SUPPLEMENTARY:
Linear Pair Sv . ' Same-Side Interior ' 8 0
n by —
Vertical Co c\ o e Corresponding —
~7
nJ ~
— —
Alternate Interior S— Alternate Exterior S—
> B
c s/°B D
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Use the figure at the right to find the indicated variable. Explain your reasoning.

a. Ifms4=2x-17 and ms1 =85, findx.

B+S=1%0 .
ML +me) =10 *--S—J“az‘js‘}'s"'_”
2\‘\7-\%5:\89 B\ |
2%+ 6%= (0 LSrE
AT ICEO I
22X T2
2 2

b. Findyif ms3 =4y +30 and ms7 =7y + 6.

RothS— set =
ML3=mi]
AN130 =Tyt
My My

303+l
) b
24+34
3 73
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Use the figure at the rightto find the indicated variable.

C If ms2 =4x+7 and ms7 = 5x-13, findx. J\\\l\
Lot B — set = )
ot ext JN
mML2=miT g Sk ‘
HxeT=5%13 PO
| "
4x420 SX
\-4¥%
20= K

d. Findyif ms5=68 and m23 =3y -2.

B+4S=|80 —7 sama-gide (n\-
MLI3IAMeS= (8D
B\-2+ 6R=1RD

3N+ (olo= (80

A - lolo) ~ o
3y Ty

3 3

NEEL
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Finally, a special relationship exists when the transversal of two parallel lines is a perpendicularline.

Perpendicular Transversal Theorem: In a plane, if a line is perpendicular to one of two

parallel lines, then it is perpendicular to the other.

£ af|band tla,thentllb.

1 This sitvetioncrent es
) r‘ ) EIGHT right angRes -

10



	Page 1: Oct 26-1:44 PM
	Page 2: Oct 26-1:45 PM
	Page 3: Oct 26-1:45 PM
	Page 4: Oct 26-1:46 PM
	Page 5: Oct 26-1:46 PM
	Page 6: Oct 26-1:46 PM
	Page 7: Oct 26-1:47 PM
	Page 8: Oct 26-1:48 PM
	Page 9: Oct 26-1:48 PM
	Page 10: Oct 26-1:48 PM

